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1. fotepiR Tes fam - 1x8=8

Answer as directed :

(@) T5 ETON Teoqrmq e i |
Define Gross National Product.
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(b)

()

(@)

(e)
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(2)

JECe Afesre ww e & og@o

What do you mean by disposable
personal income?

R Sy 2@Ed e o

Define circular flow of income.

SRETSl T YR Tio® (2 93] SLAfRg-
SR 2

The concept of fliquidity trap’ is
associated with

(i) J. M. Keynes
(i) W.J: Baumol
(i) M. Friedman

(iv) James Tobin
(e T&CH1 1S Bferean)

(Choose the correct answer)

Sl s 2

What is hyperinflation?

( Continued )

(3)

() 1S T wfdazd 9 | 3 o[/

IS function is derived from

(i) @ T=€/money market

(i) @ ¥&&/product market

(iii) (i) =¥ (i) T&1/Both (i) and (i)

(iv) (i) S (i) 951@ 772 /Neither (i) nor (ii)
' (v TaachT S Sferean)

(Choose the correct answer)

(g TR @ I R

‘Increase in money supply leads to
(i) 9 AT 2P N
fall in interest rate
(i) TR 7W R
rise in interest rate
(ifi) TS TIF CPICT Afade 7=y
unchanged rate of interest
{iv) (i) T (1)
Either (i) or (it)
(o= Teaco! 91 Sfersan)

(Choose the correct answer)
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(4)

(h) EAeR @Bt S e

Write one objective of monetary policy.

. fere feerm R @ (R e[ 5 Gl
forn - 4x3=12

Write short notes on any three of the following
topics :

(a) e SR T Tl wLAfe
Macroeconomics vs. Microeconomics

(b) GDP %R - AafS

Value-added approach of measurement
of GDP

(c) @SR PR

Tools of monetary policy

(d) TarHfs ¥

Inflationary gap

. STfEere wefed e i | AR weAfey gfe
e R0 T Al B9 2+10=12

Define macroeconomics. Discuss the nature
and scope of macroeconomics.
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(5)

w41 / Or

GDP SAfos TR ¢F TIREAT (A WA ?
quﬁmuwaﬁ:{ﬁﬂswwﬁiﬁﬁmgﬁ
e FRA1? 8+4=12
Is GDP a satisfactory measure of economic
welfare? Give reasons. What alternative
measure would you suggest for economic
welfare?

. oW Wﬂmﬁﬂwwwﬁmm

SEECeHET | 6+6=12
Explain the product and expenditure
methods of computing national income.

%<1 /Or

Wﬁwﬂ@qﬁ%ﬁmwv@amﬁﬁﬂw

sroqcd el 0 12
Discuss the process of circular flow of
income in a four-sector economy.

_wmq@@@aﬁqﬁmﬁﬁmqu

wwwnnﬁﬂﬁaﬁqﬂmmﬁwm
e TR ? 8+4=12
Discuss the Cambridge cash balance
approaches to the quantity theory of
money. How far is it superior to cash
transactions approach?
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(6)

¥4l /Or

fFerrE q@e RTT O FRORRE AT
TEFSICE AL 3547 | 12

Critically discuss Friedman’s restatement of
the quantity theory of money.

vl TErefs W et qErRfee TeR
14 o1 | Rfew ol aifeq eo/e @rdifR gem
EHEIES IR 6+6=12
Distinguish between demand-pull and cost-

push inflation. Explain economic effects of
inflation on different sections of people.

24T /Or

Erefe e qrdfe e IRaE Rme
TS A AR IREPTR TCE ST
<S4 2+10=12
What is inflation? Discuss the monetary and
fiscal measures to control inflation.

(PR R OGS (FCAE SR W7 w1 e
P9 W, I AL TIPS T F41 | 12
Discuss critically how equilibrium level of

income is determined under Keynesian theory
of income determination.
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(7))

%77 /Or
IS-LM ReETs @@is SR 9H 9F @ 2W@
e =7, Ir4m 401 12

Explain how equilibrium income and rate of
interest are determined through IS and LM

analysis.
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